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          (Example: 12 Hari Kumar Math T1) 

Q1.a).Fill in the blanks.                                                                                                (4) 
     1. (x2 + 4x+ 8) – (3x2 + __ + 6) =-2x2  - x +2. 

    2.If  the measure of  each interior angle of a regular polygon is 1500 ,then the number of sides of polygon  

     equals __________________. 

    3.   √13824
3

 =24 then √0.013824
3

 is _____________. 

    4.In the term 12x2 y3 z2 ,the coefficient of 12 is ________________. 

 b).find the valus of (64)2 x 2-6  x 2-9  + ( 15 )0                                                                                                                                                        (3) 

 c).The interior  angles of a hexagon are x , x-5 , x-5 , 2x-5 , 2x-5 , 2x +20 . Find x.                                           (3) 

 

Q2. Solve the following.                                                              

   i)  Evalute  24.4  X  25.6 using the identities                                                                                                     (3)  
                      

  ii)    2x   -  5y   2                                                                                                                          (3) 

          5y      2x 

                               

 ii). 7(2x-4) +6(11x+3) = 4(3x+5)-8(x-1) find x.                                                                                                   (4) 

 

  Q3. Solve the following.                                                         

 a) ). Using the identity (a+b)(a-b) =a2 –b2                                                                                                             (3) 

      simplify (2x +7)(2x - 7)(4x2 +49)   

 b).solve the equation: 

     6x - 7  +  3x - 5  =  5x+78                                                                                                                                       (3) 
       4            7            28 
 
 

c).                                                                                    

                                4xo           5(x+2)o                                                                                                                                                                              (4) 

                       (7x-20)o    6(x+3)o  

             

i) Find the   value of x. 

ii) Each angle of the quadrilateral.      

 



Q4.Solve the  following.                                                                                             

a) Divide x3 – 3x2 -10x + 20  by x - 2                                                                                                                  (3)   

 

 

b) 25    3/2  ÷  125  2/3  x  1                                                                                                                                   (3)                                                                                                                                      
49                8              4 

 

c) Three  angles of the quadrilateral are in the ratio 2:3:4 . If the sum of the least and the greatest of the given angles is  

equal to 1800 . find the measures of all the angles of this quadrilateral.                                                         (4)                                                                              

 

 

    

 

                                                                      


